
IM-KDO.02.002A-02

INSTALLATION GUIDE

ATTENTION: Is your Cart damaged? 

Need help or spare parts? For fastest service, 
contact NewAge Products at 1-877-306-8930; 
or support@newageproducts.com. 
Do not return to the retailer.

STOP

Use two or more people to move, assemble, or install the cart to avoid back 
injury. Do not leave children unattended near the Kamado. 

Warning: Excessive weight hazard!

!

Platinum Kamado Cart

For the online installation manual and videos regarding this product, please check out our support hub via:
https://newageproducts.com/support-hub/#outdoor-grills



Index
Safety and Care	 3

Unpacking 	 4

Product Inspections 	 4

Tools Needed	 4 

Product specifications	 5

Parts Included	 6 

Assembling the Cart Base and the Casters	 8 

Installing the Upper Arm Extrusions	 9

Installing the Side Table	 10

Kamado Cart Instructions	 11

Manufacturer Warranty  	 12



Care

Wooden Parts 
Oiling teak parts regularly will preserve its original golden brown appearance. Follow the below steps for oiling:

1.	 Place a cloth or newspaper beneath the teak parts to catch spills. Put on gloves to avoid getting oil on your hand, which 

may cause skin irritation.

2.	 Clean the wooden parts with water and mild soap.

3.	 Dry the wooden parts after cleaning and leave them for 24–36 hours to remove all moisture before applying the oil.

4.	 Apply teak oil by using a paint brush.

5.	 Wait fifteen minutes, then wipe down with a cloth.

6.	 Reapply regularly. Your wooden parts will fade in color if oil is not reapplied.

Safety and Care
Safety

1.	 Place and use the cart with kamado in a safe and level spot. Do not place it on a slope, uneven surface or under low trees or 

branches.

2.	 All fasteners should be assembled securely. Make use of tools provided for fastening all hardware precisely. 

3.	 Ensure to lock the casters after placing the cart in designated usage area.

4.	 For the side tables, refrain from loading excessive weight. These should not be loaded more than 22 Lbs.

5.	 Always keep children and pets at a safe distance from the oven when in use.

1.	 To clean the cart use a non-abrasive cleaner once the unit has fully cooled.

2.	 After complete cooling of Kamado or when not in use, unit should be stored with Cart cover. This will prevent the product 

from dirt and dust.



4

Unpacking  
•	 Begin by placing the package on a covered flat surface.
•	 Remove all cardboard, foam packaging material and nylon bags.
•	 Dispose / recycle all packaging materials.
•	 Verify all the contents in the box and gather the required tools. See “Tools Needed” in the list on                    

next pages. 

Product Inspection 
•	 Check to see all parts are received as per the 

order placed.
•	 Contact NewAge Products  at 1-877-306-8930;  

for any missing parts.
•	 Inspect the products for any damages before 

starting the installation.
•	 Go through the installation instructions carefully 

before starting the installation.

•	 Two or more persons are required to install the appliance Carts shown in this Installation Manual.
•	 The illustrations shown in this Install Manual are for representation purpose only. Actual sizes of 

the parts supplied in the package can be slightly different by appearance. Appearance of  
hardware sizes are enlarged for ease of understanding for the customer. 

IMPORTANT NOTES

Tools Needed

Philips Screw 
Driver

Wrench No.17/19 Allen KeyWrench No.8/10



5

Product Specifications

ZX

Y

Kamado Cart

Dimensions:  
 
Width (X) 		  – 	 48.26” 

Depth (Z)  		 – 	 27.5” 
 
Height (Y) 		 – 	 30.24” 

Material 		  – 	 Stainless Steel 

Weight 		  –  	 29 Lbs



6

Parts Included

22

1

20
12

4
2

6

5

6

7

23

18

13

17

19

21

8

A
DETAIL A

3
5

14

16

15

10

9

24
11



7

Parts Included

ItemNo PartNo Description QTY.
Spare 

Part SKU
QTY.

1 KDO-22.023.01A-01  KDO 22” Cart Bottom Structure 4 - -

2 KDO-22.023.02A-01 KDO 22” Joining Plate 2 - -

3 KDO-22.023.03A-01 KDO 22” Cart Top Structure 4 - -

4 KDO-22.023.04A-01 KDO 22” Support Bracket 4 - -

5 KDO-22.023.05A-01 KDO 22” Bracket -1 2 - -

6 KDO-22.023.06A-01  KDO 22” Bracket -2 2 - -

7 KDO-22.023.07A-01 22” Kamado Platinum Cart Side Table Assembly 2 65990 1

8 KDO-22.023.08A-01 Insert For Caster Stem 4 - -

9 KDO-22.023.09A-01-XX Bottom Protection Pad 4 - -

10 KDO-22.023.09A-01-XX Top Protection Pad 4 - -

11 KDO-22.023.09A-01-XX Side Protection Pad 4 - -

12 H00386A-01 M12 Cap Nut 4 - -

13 H00270A-01 M6x12L Countersunk Head Screw 16 - -

14 H00305A-01 M6x50L Button Head Screw 16 - -

15 H00269A-01 Cap Nut M6 16 - -

16 H00396A-01 M6 Spring Washer 32 - -

17 H00389A-01 M6x20L Button Head Screw 8 - -

18 H00390A-01 M5x10L Button Head Screw 8 - -

19 H00391A-01 M5 Hex Nut 8 - -

20 H00515A-01 M12 Split Lock Washer 4 - -

21 H00193A-01 M6 Rivet Nut 24 - -

22 H00383A-01 22” Kamado Platinum Cart Caster with Brake 2 65992 Pack of 2

23 H00384A-01 22” Kamado Platinum Cart Caster 2 65991 Pack of 2

24 H00388A-01 M6x12x1.5 Washer 32 -



8

Assembling the Cart Base & Casters
Install the brackets to the cart bottom in 
postion by matching holes with the M6 
screws on the brackets.

Repeat step 2 to install all the Casters onto 
the given inserts on the Cart bottom.

1

3

Parts required.

M6 x 12 Screws Philips Screw 
Driver

Install caster by aligning on the cart 
extrusions using a wrench and M12 
capnuts.

2

NOTE: Lock the casters until cart is fully 
assembled and Kamado is placed.

M12  
Cap Nuts

M12 Lock 
 Washer

Wrench  
No.17/19



9

Installing the Upper Arm Extrusions
Install upper cart extrusions with the 
lower extrusions using the side arm 
brackets.

Repeat step 5 to install other upper arm 
extrusions.

5

6

Parts required.

M6x45 Screw M6 Cap Nut

M6x12 Washer M6 Washer

Wrench No.8/10 Allen Key

4



10

Installing the Side Table
Install the side table aligning to the side 
brackets provided using the M5 screws 
and M5 Hex Nut.

Install the side table to the assembled cart 
structure using the M6 screws. Tighten the 
screws with the allen key.

8Parts required.

M5 x 10  
Screw

M6 x 20 Screw

Philips Screw 
Driver

M5  
Hex Nut

Allen Key

Repeat step 9 to install other side table.10

7

9



11

Kamado Cart Instructions

Release the lever and pull down to fold 
the side tables.2

Place the Kamado in position, once the 
cart is assembled.1

At least two or more people are required to lift the 
kamado.

WARNING



12

Scan this QR code with the camera 
on your mobile device to visit the 
NewAge Products Support Hub

www.newageproducts.com/support-hub/

PROOF OF PURCHASE IS REQUIRED 
TO OBTAIN WARRANTY SERVICE. 
Please have the following information available 
when you call our customer service team:

• Name, address and telephone number
• Product Name / SKU Number
• A clear, detailed description of the problem
• Proof of purchase including order number

NEWAGE PRODUCTS INC. KAMADO CART 
MANUFACTURER WARRANTY

FIVE YEARS LIMITED WARRANTY
WHAT IS COVERED

When this product is installed, operated and maintained according to the instructions attached to or furnished with the product, NewAge Products 
Inc. will replace the defective product or parts if the part fails as a result of defective materials or workmanship for the warranty duration from the 
purchase date of the product.

1.	 Service calls to correct the installation of any NewAge products or to instruct you how to use or install them.
2.	 Damage resulting from products caused by accident, misuse, abuse, fire, flood, improper installation, acts of God, neglect, modification or 

mishandling.
3.	 Products damaged by improperly loading beyond the specified maximum weight capacity outlined in the instructions provided with the prod-

uct.
4.	 Repairs or replacement when your product is used in other than normal, residential use, such as a commercial environment, or handled in 

anyway inconsistent with the installation instructions included with the product.
5.	 Cosmetic damage, including scratches, dings, dents or cracks in paint that do not affect the structural or functional capability of the product.
6.	 Surfaces damaged due to improper use of chemicals, and detergents.
7.	 Replacement parts for NewAge products outside Canada and the United States.
8.	 Loss due to theft.
9.	 Damage resulting from use of the product contrary and not in accordance to the instruction manual.
10.	 Any labor costs during the warranty period.

DISCLAIMER OF IMPLIED WARRANTIES
IMPLIED WARRANTIES, INCLUDING TO THE EXTENT APPLICABLE WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE, 
ARE EXCLUDED TO THE EXTENT LEGALLY PERMISSIBLE. ANY IMPLIED WARRANTIES THAT MAY BE IMPOSED BY LAW ARE LIMITED TO ONE YEAR, OR 
THE SHORTEST PERIOD ALLOWED BY LAW. THIS WARRANTY IS LIMITED TO THE ORIGINAL BUYER. Some states and provinces do not allow limitations 
on the duration of implied warranties of merchantability or fitness, so this limitation may not apply to you. This warranty gives you specific legal rights, and 
you also may have other rights that vary from state to state or province to province.

LIMITATION OF REMEDIES; EXCLUSION OF INCIDENTAL AND CONSEQUENTIAL DAMAGES
YOUR SOLE AND EXCLUSIVE REMEDY UNDER THIS LIMITED WARRANTY SHALL BE PRODUCT REPAIR OR REPLACEMENT AT OUR DISCRETION AS 
PROVIDED HEREIN. NEWAGE SHALL NOT BE LIABLE FOR INCIDENTAL OR CONSEQUENTIAL DAMAGES. Some states and provinces do not allow the ex-
clusion or limitation of incidental or consequential damages, so these limitations and exclusions may not apply to you. This warranty gives you specific legal 
rights, and you also may have other rights that vary from state to state or province to province.

WHAT IS NOT COVERED

Register your NewAge Products purchase online for quicker 
customer assistance and access to exclusive benefits

Visit www.newageproducts.com/register/

Warranty Claim
For warranty service please contact NewAge Products at 
1-877-306-8930; or support@newageproducts.com
Please review all warranty details below, prior to 
contacting NewAge Products for a claim.
Scan the QR code on the right to access our support page or
visit www.newageproducts.com/contact-us/



IM-KDO.02.002A-02

GUIDE D’INSTALLATION

ATTENTION: Votre chariot est-il endommagé?
Vous avez besoin d’assistance ou de pièces de rechange? Pour obtenir 
un service plus rapide,
contactez NewAge Products au 1 877 306-8930;
ou écrivez à support@newageproducts.com.
Ne retournez pas ce produit au détaillant. 

ARRÉT

Pour éviter les blessures au dos, déplacez, assemblez et installez le chariot 
avec l'aide de deux personnes ou plus. Ne laissez pas d'enfant sans 
surveillance près du Kamado. 

Avertissement : Danger de charge excessive!

!

Chariot Kamado Platinum

Pour le manuel d'installation en ligne et les vidéos concernant ce produit, veuillez consulter notre centre d'assistance 
via : https://newageproducts.com/support-hub/#outdoor-grills



Index
Sécurité et soins	 3

Déballage 	 4

Inspection du produit 	 4

Outils requis	 4 

Spécifications du produit	 5

Pièces comprises	 6 

Assemblage de la base du chariot et des roulettes	 8 

Installation des bras supérieurs munis de trous                                                                                                 9

Installation des tables d’appoint	 10

Instructions pour le chariot Kamado	 11

Garantie du fabricant  	 12



Pièces en bois 
Huiler régulièrement les pièces en teck permettra de préserver leur apparence brun doré d’origine. Suivez les étapes ci-

dessous avant de huiler :

1.	 Mettez un chiffon ou un journal en dessous des pièces en teck pour recueillir les déversements. Mettez des gants pour 

éviter d’avoir de l’huile sur vos mains, ce qui pourrait irriter la peau.

2.	 Nettoyez les pièces en bois avec de l’eau et du savon doux.

3.	 Séchez les pièces en bois après les avoir nettoyées et laissez-les reposer de 24 à 36 heures pour qu’il n’y ait aucune 

humidité avant de procéder à l’application d’huile.

4.	 Appliquez de l’huile de teck à l’aide d’un pinceau.

5.	 Attendez quinze minutes, puis essuyez avec un chiffon.

6.	 Réappliquez régulièrement. La couleur de vos pièces en bois s’atténuera si vous n’y réappliquez pas d’huile.

SÉCURITÉ ET SOINS
Sécurité

1.	 Placez et utilisez le chariot avec Kamado à un endroit sécuritaire et au niveau. Ne le mettez pas sur une pente, à un endroit 

inégal ou sous des arbres bas ou des branches.

2.	 Toutes les attaches doivent être assemblées de manière sûre. Utilisez les outils fournis pour fixer toutes la visserie avec 

précision. 

3.	 Veillez à verrouiller les roulettes après avoir placé le chariot dans la zone d'utilisation prévue.

4.	 Pour les tables d'appoint, évitez d’y déposer un poids excessif. Ces dernières ne doivent pas supporter plus de 22 lb.

5.	 Gardez toujours les enfants et les animaux de compagnie à une distance sécuritaire lorsque le gril fonctionne.

Soins
1.	 Pour nettoyer le chariot, utilisez un nettoyant non abrasif une fois que l’appareil est complètement refroidi.

2.	 Après le refroidissement complet du Kamado ou lorsqu'il n'est pas utilisé, l'appareil doit être rangé avec le couvercle du 

chariot. Cela permettra d'éviter que le produit ne soit sali ou poussiéreux.



4

Déballage  

Inspection du produit 

Outils nécessaires

Tournevis à empreinte 
cruciforme de type 

Phillips
Clé n° 17/19 Clé hexagonaleClé n° 8/10

•Assurez-vous d’avoir reçu toutes les pièces
conformément à la commande que vous avez
passée.
• S’il manque des pièces, contactez NewAge
Products au 1 877 306-8930.
• Avant de commencer l’installation, inspectez 
les produits pour y déceler tout dommage.
• Lisez attentivement les instructions
d'installation avant de commencer l’installation.

• Commencer par placer l’emballage sur une surface plane doté d’un revêtement;
• Retirer tout le carton, les matériaux d’emballage en mousse et les sacs en plastique transparents;
• Mettre au rebut/recycler tous les matériaux d'emballage;
• Vérifier l’ensemble du contenu de la boîte et réunir les outils nécessaires. Consultez la section
« Outils requis » dans la liste ci-dessous.

REMARQUES IMPORTANTES
•	 Deux personnes ou plus sont nécessaires pour installer les chariots pour appareils illustrés dans ce ma-

nuel d’installation.
•	 Les illustrations présentées dans ce manuel d’installation le sont à des fins de représentation  		

uniquement. Les dimensions réelles des pièces fournies dans le paquet peuvent être d’apparence 	
légèrement différentes. L’aspect des dimensions de la visserie est agrandi pour faciliter la 			 
compréhension du consommateur.



5

Spécifications du produit

ZX

Y

Chariot Kamado

Dimensions :  
 
Largeur (X) 		  – 	 48,26 po 

Profondeur (Z)  		  – 	 27,5 po 
 
Hauteur (Y) 		  – 	 30,24 po 

Matériau - Acier inoxydable 

Poids - 29 lb



6

Pièces comprises

22

1

20
12

4
2

6

5

6

7

23

18

13

17

19

21

8

A
DETAIL A

3
5

14

16

15

10

9

24
11



7

Pièces comprises

Nº 
d’article

Nº de pièce Description QTÉ.
UGS de 

pièce de 
rechange

QTÉ.

1 KDO-22.023.01A-01  Structure inférieure du chariot KDO 22 po 4 - -

2 KDO-22.023.02A-01 Plaque de jonction KDO 22 po 2 - -

3 KDO-22.023.03A-01 Structure supérieure du chariot KDO 22 po 4 - -

4 KDO-22.023.04A-01 Bride de soutien KDO 22 po 4 - -

5 KDO-22.023.05A-01 Support 1 KDO 22 po 2 - -

6 KDO-22.023.06A-01  Support 2 KDO 22 po 2 - -

7 KDO-22.023.07A-01
Assemblage des tables d’appoint du chariot 

Kamado Platinum de 22 po
2 65990 1

8 KDO-22.023.08A-01 Écrou rapporté pour la tige de la roulette 4 - -

9 KDO-22.023.09A-01-XX Plaque de protection inférieure 4 - -

10 KDO-22.023.09A-01-XX Plaque de protection supérieure 4 - -

11 KDO-22.023.09A-01-XX Plaque de protection latérale 4 - -

12 H00386A-01 Écrou borgne M12 4 - -

13 H00270A-01 Vis à tête fraisée M6x12L 16 - -

14 H00305A-01 Vis à tête ronde M6x50L 16 - -

15 H00269A-01 Écrou borgne M6 16 - -

16 H00396A-01 Rondelle à ressort M6 32 - -

17 H00389A-01 Vis à tête ronde M6x20L 8 - -

18 H00390A-01 Vis à tête ronde M5x10L 8 - -

19 H00391A-01 Écrou hexagonal M5 8 - -

20 H00515A-01 Rondelle frein fendue M12 4 - -

21 H00193A-01 Écrou riveté M6 24 - -

22 H00383A-01
Roulette de chariot Kamado Platinum 22 po 

avec frein
2 65992

Ensemble 

de 2

23 H00384A-01 Roulette de chariot Kamado Platinum 22 po 2 65991
Ensemble 

de 2

24 H00388A-01 Rondelle M6x12x1.5 32 -



8

Assemblage de la base et des roulettes du chariot

Installez les supports en place sur la base 
du chariot en faisant correspondre les 
trous avec les vis M6 sur les supports.

Répétez l'étape 2 pour installer toutes les 
roulettes sur les écrous rapportés prévus à 
cet effet sur la base du chariot.

1

3

Pièces requises.

Vis M6 x 12 Tournevis à em-
preinte cruciforme 

de type Phillips

Installez la roulette en l'alignant sur les 
trous du chariot à l'aide d'une clé et 
d’écrous borgnes M12.

2

REMARQUE : Bloquez les roulettes jusqu'à ce que le 
chariot soit entièrement assemblé et que le Kamado 
soit posé.

Écrous  
borgnes M12

Rondelle 
frein 
 M12

Clé  
n° 17/19



9

Installation des bras supérieurs munis de trous
Faites correspondre les trous supérieurs de 
chariot avec les trous inférieurs de chariot 
en utilisant les supports latéraux de bras.

Répétez l'étape 5 pour installer les autres 
bras supérieurs munis de trous.

5

6

Pièces requises.

Vis M6x45 Écrou borgne M6

Rondelle M6x12 Rondelle M6

Clé n° 8/10 Clé hexagonale

4



10

Installation des tables d’appoint
Installez la table d’appoint en l'alignant 
avec les supports latéraux fournis à l'aide 
des vis M5 et de l'écrou hexagonal M5.

Installez la table d’appoint sur la structure 
du chariot assemblé à l'aide des vis M6. 
Serrez les vis à l'aide d'une clé hexagonale.

8Pièces requises.

Vis  
M5 x 10

Vis M6 x 20

Tournevis à 
empreinte cru-
ciforme de type 

Phillips

Écrou  
hexagonal M5

Clé hexagonale

Répétez l'étape 9 pour installer l'autre 
table d’appoint.

10

7

9



11

Instructions du chariot Kamado

Relâchez le levier et tirez vers le bas pour 
replier les tables d’appoint.2

Placez le Kamado en position une fois le 
chariot assemblé.1

Il faut au moins deux personnes ou plus pour soulever le 
Kamado.

AVERTISSEMENT



12

GARANTIE DU FABRICANT POUR LE CHARIOT 
KAMADO NEWAGE PRODUCTS INC.

UNE PREUVE D’ACHAT EST REQUISE 
POUR OBTENIR UN SERVICE SOUS GARANTIE. 

Veuillez avoir les renseignements suivants lorsque 
vous appelez notre équipe du service à la clientèle :

• Le nom, l’adresse et le numéro de téléphone
• Le nom du produit / numéro d’UGS
• Une description claire et détaillée du problème
• Une preuve d’achat, y compris un numéro de com-
mande

Enregistrez votre achat de produits NewAge en ligne pour obtenir 
une assistance à la clientèle plus rapide et un accès à des avantages 
exclusifs

Visitez www.newageproducts.com/register/

Réclamation sous garantie
Pour un service sous garantie, veuillez contacter NewAge Products au 
1 877-306-8930; ou support@newageproducts.com

Veuillez examiner tous les détails de la garantie ci-dessous avant de 
contacter NewAge Products pour une réclamation.
Balayez le code à barres 2D à droite pour accéder à la page d’assistance ou
visitez le www.newageproducts.com/contact-us/

Balayez ce code à barres 2D avec la caméra de votre  
téléphone mobile pour visiter le centre d’assistance de 

NewAge Products  
www.newageproducts.com/support-hub/

 GARANTIE DE 5 ANS LIMITÉE
CE QUI EST COUVERT

Pendant la durée de la garantie à compter de la date d’achat, lorsque ce produit est installé, utilisé et entretenu conformément aux in-
structions fournies, NewAge Products Inc. remplacera les pièces ou le produit défectueux, si le bris provient d’un défaut de matériau ou de 
fabrication.

CE QUI N’EST PAS COUVERT
1. Les appels de service pour corriger l’installation de tout produit NewAge ou pour vous montrer comment l’utiliser ou l’installer.
2. Dommages résultant de produits causés par un accident, des chutes, un choc thermique, une pénétration d’eau, une mauvaise utilisa-

tion, un abus, un incendie, une inondation, une mauvaise installation, des cas de force majeure, une négligence, une modification ou
une mauvaise manipulation.

3. Les produits endommagés en raison d’une charge supérieure au poids maximum précisé dans les instructions fournies avec le pro-
duit.

4. Les réparations ou le remplacement lorsque votre produit est utilisé pour un usage autre que résidentiel normal, comme dans un
milieu commercial, ou manipulé d’une manière incohérente avec les instructions d’installation comprises avec le produit.

5. Les dommages esthétiques, y compris les rayures, les bosses, les bosses ou les fissures dans la glaçure qui n’affectent pas la capac-
ité structurelle ou fonctionnelle du produit.

6. Croissance de la moisissure due à un entretien et un stockage inappropriés.
7. Les surfaces endommagées en raison d’un usage inadéquat de produits chimiques et de détergents.
8. Les pièces de rechange pour des produits NewAge à l’extérieur du Canada et des États-Unis.
9. Une perte en raison d’un vol.
10. Des dommages résultant d’une utilisation contrindiquée du produit et non conforme au manuel d’instructions.
11. Tout coût de main-d’œuvre pendant la période de garantie.

EXCLUSION DE GARANTIES IMPLICITES
DANS LA MESURE PERMISE, LES GARANTIES IMPLICITES, Y COMPRIS LES GARANTIES APPLICABLES DE QUALITÉ MARCHANDE OU DE CONFORMITÉ 
À UN USAGE PARTICULIER, SONT EXCLUES DANS LA LIMITE OÙ LA LOI LE PERMET. TOUTE GARANTIE IMPLICITE QUI POURRAIT ÊTRE IMPOSÉE PAR 
LA LOI DOIT SE LIMITER À UN AN, OU À LA PÉRIODE LA PLUS COURTE PERMISE PAR LA LOI. CETTE GARANTIE SE LIMITE À L’ACHETEUR D’ORIGINE. 
Certains États ainsi que certaines provinces ne permettent pas les limitations sur la durée d’une garantie implicite de qualité marchande ou de conformité, 
il est donc possible que les limitations ci-dessus ne s’appliquent pas à vous. Cette garantie vous donne des droits légaux particuliers et vous pourriez 
également disposer d’autres droits variant selon l’État ou la province.

LIMITATION DES RECOURS; EXCLUSION DES DOMMAGES ACCESSOIRES ET INDIRECTS
EN VERTU DE CETTE GARANTIE LIMITÉE, VOTRE SEUL ET UNIQUE RECOURS DOIT ÊTRE LA RÉPARATION OU LE REMPLACEMENT DU PRODUIT, À 
NOTRE DISCRÉTION, COMME INDIQUÉ AUX PRÉSENTES. NEWAGE NE DOIT PAS ÊTRE TENU RESPONSABLE DES DOMMAGES ACCESSOIRES ET 
INDIRECTS. Certains États ainsi que certaines provinces ne permettent pas l’exclusion ou la limitation des dommages accessoires ou indirects, il est par 
conséquent possible que ces limitations et exclusions ne s’appliquent pas à vous. Cette garantie vous donne des droits légaux particuliers et vous pourriez 
également disposer d’autres droits variant selon l’État ou la province.


	IM-KDO.02.002A-02-Kamado Cart_Installation Guide_EN
	IM-KDO.02.002A-02-Kamado Cart_Installation Guide_FR

